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Answers

1. 1,100

2. 470

3. 330

4. 790

5. 1,000

6. 1,400

7. 1,220

8. 1,460

9. 1,300

10. 1,200

Solve each problem.

1) A candy company sells 234 boxes of sugar candy and 866
boxes of chocolate candy every day. To the nearest hundred,
what is the sum of the boxes of candy they sell?

ten
200 + 900

1100

hundred
234 + 866

1100 = 1100

2) An ice cream shop sold 106 chocolate cones and 363 vanilla
cones. To the nearest ten, how many cones did the ice cream
shop sell all together?

ten
110 + 360

470

hundred
106 + 363
469 = 470

3) Oliver was reading through his favorite book series. The first
book he read had 128 pages and the next book had 200
pages. To the nearest ten, how many pages were in both
books?

ten
130 + 200

330

hundred
128 + 200
328 = 330

4) Two friends were counting the amount of candy they scored
for Halloween. James received 335 pieces and Dan received
450 pieces. To the nearest ten, what is the combined amount
they both received?

ten
450 + 340

790

hundred
450 + 335
785 = 790

5) In a month, a video store rented out 219 action movies and
768 other types of movies. To the nearest hundred, what is
the sum of the movies they rented in a month?

ten
200 + 800

1000

hundred
219 + 768
987 = 1000

6) A school had 503 red pens and 908 blue pens. To the nearest
hundred, how many pens did they have total?

ten
500 + 900

1400

hundred
503 + 908

1411 = 1400

7) Robin was preparing for a marathon. In the morning she
jogged 693 meters and in the afternoon she jogged another
530 meters. To the nearest ten, how many meters did she jog
total?

ten
690 + 530

1220

hundred
693 + 530

1223 = 1220

8) In one month a furniture store sold 619 plastic chairs and
837 wooden chairs. To the nearest ten, how many chairs did
they sell total?

ten
620 + 840

1460

hundred
619 + 837

1456 = 1460

9) A pet store had 926 goldfish and 362 clown fish. To the
nearest hundred, what is the total number of both types of
fish?

ten
900 + 400

1300

hundred
926 + 362

1288 = 1300

10) At Sarah's school there are 390 students in 3rd grade and 817
students in 4th grade. To the nearest hundred, how many
students were there in both grades?

ten
400 + 800

1200

hundred
390 + 817

1207 = 1200
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Solve each problem.

1) A candy company sells 234 boxes of sugar candy and 866
boxes of chocolate candy every day. To the nearest hundred,
what is the sum of the boxes of candy they sell?

ten
200 + 900

1100

hundred
234 + 866

1100 = 1100

2) An ice cream shop sold 106 chocolate cones and 363 vanilla
cones. To the nearest ten, how many cones did the ice cream
shop sell all together?

ten
110 + 360

470

hundred
106 + 363
469 = 470

3) Oliver was reading through his favorite book series. The first
book he read had 128 pages and the next book had 200
pages. To the nearest ten, how many pages were in both
books?

ten
130 + 200

330

hundred
128 + 200
328 = 330

4) Two friends were counting the amount of candy they scored
for Halloween. James received 335 pieces and Dan received
450 pieces. To the nearest ten, what is the combined amount
they both received?

ten
450 + 340

790

hundred
450 + 335
785 = 790

5) In a month, a video store rented out 219 action movies and
768 other types of movies. To the nearest hundred, what is
the sum of the movies they rented in a month?

ten
200 + 800

1000

hundred
219 + 768
987 = 1000

6) A school had 503 red pens and 908 blue pens. To the nearest
hundred, how many pens did they have total?

ten
500 + 900

1400

hundred
503 + 908

1411 = 1400

7) Robin was preparing for a marathon. In the morning she
jogged 693 meters and in the afternoon she jogged another
530 meters. To the nearest ten, how many meters did she jog
total?

ten
690 + 530

1220

hundred
693 + 530

1223 = 1220

8) In one month a furniture store sold 619 plastic chairs and
837 wooden chairs. To the nearest ten, how many chairs did
they sell total?

ten
620 + 840

1460

hundred
619 + 837

1456 = 1460

9) A pet store had 926 goldfish and 362 clown fish. To the
nearest hundred, what is the total number of both types of
fish?

ten
900 + 400

1300

hundred
926 + 362

1288 = 1300

10) At Sarah's school there are 390 students in 3rd grade and 817
students in 4th grade. To the nearest hundred, how many
students were there in both grades?

ten
400 + 800

1200

hundred
390 + 817

1207 = 1200
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Solve each problem.

330 1,220 1,400 790

1,100 470 1,460 1,000

1) A candy company sells 234 boxes of sugar candy and 866
boxes of chocolate candy every day. To the nearest hundred,
what is the sum of the boxes of candy they sell?

ten
200 + 900

1100

hundred
234 + 866

1100 = 1100

2) An ice cream shop sold 106 chocolate cones and 363 vanilla
cones. To the nearest ten, how many cones did the ice cream
shop sell all together?

ten
110 + 360

470

hundred
106 + 363
469 = 470

3) Oliver was reading through his favorite book series. The first
book he read had 128 pages and the next book had 200
pages. To the nearest ten, how many pages were in both
books?

ten
130 + 200

330

hundred
128 + 200
328 = 330

4) Two friends were counting the amount of candy they scored
for Halloween. James received 335 pieces and Dan received
450 pieces. To the nearest ten, what is the combined amount
they both received?

ten
450 + 340

790

hundred
450 + 335
785 = 790

5) In a month, a video store rented out 219 action movies and
768 other types of movies. To the nearest hundred, what is
the sum of the movies they rented in a month?

ten
200 + 800

1000

hundred
219 + 768
987 = 1000

6) A school had 503 red pens and 908 blue pens. To the nearest
hundred, how many pens did they have total?

ten
500 + 900

1400

hundred
503 + 908

1411 = 1400

7) Robin was preparing for a marathon. In the morning she
jogged 693 meters and in the afternoon she jogged another
530 meters. To the nearest ten, how many meters did she jog
total?

ten
690 + 530

1220

hundred
693 + 530

1223 = 1220

8) In one month a furniture store sold 619 plastic chairs and 837
wooden chairs. To the nearest ten, how many chairs did they
sell total?

ten
620 + 840

1460

hundred
619 + 837

1456 = 1460

Answers

1. 1,100

2. 470

3. 330

4. 790

5. 1,000

6. 1,400

7. 1,220

8. 1,460
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